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Please make sure that the printed pages in this question paper are 16 in number
and it contains 13 questions.
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The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book. _
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Before beginning to answer a question, its Serial Number must be written.
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Don’t leave blank page/pages in your answer-book.
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Except answer—boolc, no extra sheet will be gwen Write to the point and do not
strike the written answer. .
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Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
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General Instructions :

(i) All questions are compulsory.

(i) This question paper consists of 13 questions which are divided into four
Sections : 'A', 'B', 'C' and 'D': ‘

Section ‘A’ : Question No. 1 of this Section has forty (1-40) Objective Type
questions. Each question carries 1 mark.

Section 'B' : This Section contain six questions from Question Nos. 2 to 7.
Each question carries 2 marks. ' > r

~ Section 'C' : This Section contain four questions from Q-uestion Nos. 8 to
‘ 11. Each question carries 4 marks.

Sectibn 'D' : This Section contain only two questions, Question Nos. 12 &
13. Each question carries 6 marks.

(iii) In both the questions of Section 'D' internal choices are given. You have to

‘attempt only one alternative.
2031 |
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SECTION - A
qug -~ &
FITET Fegive 7odf & gt &
Answer the following objective type questions : |
. (1) A={x:xT% Tﬁiﬁm% F?T—% <x< %}, LT A i, GHET B 1
(areh, o, )
A={x:xis an integer—% < x< —;—}, set A iS .....c..u...e. set.
S e S | ' (Null, Infinite, Singleton)
(2 I T AT 4 @9 ¥ A S TR GG .o .. s & 1
| ' | o . 4,8,12,16)
If set A contains 4 elements, then its _powcf set has: elements.
4, 8, 12, 16)
(3) sin? Z+cos? Z-tan? L AT oo, 2l _ —l,i,l,'—l 1
6 3 TN -, 2°2
The value of sin? % + ccisA2£ - tanZ-Z—: is equal to ..... T ;
11
s 1: - l
( 22 }
(4) I A={a b c.de}dNB={a e io u}, NGIAT AN B=........... . 1

If A = {a’ b’ C"d; 8} and B = {al e, _i; ‘0, U.}, then the sct An Bis cqual
[ J— . ' :

2031 P.T. 0.
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(5)

(7)

" ®)

(4)

o W= S & 21, TffszeﬂrsL;Tﬁzma:{aua% ASATH oo
3799 &M )

If set S has 21 clements, T has 32 eclements and S U T has 42 'elements,

then S~ Thas ............ ' elements.

AA={1,2 34,5, ..., 14 T F& RN A ¥ A T TRAfa & ol
-R={(X,y)1y=3X,X,y€A},?ﬁﬁEfETREF:TW(Range)%{ ........... 3 1
Let A={1,2, 3, 4,5, ....... , 14}. A relation R is defined from A te A where
R={xy :y=3x, x5y eA}. Then range of relation R is {..- ......... }.
100 cmﬁwmﬁgﬁ%%v—ﬂvzz cmmmmmm@wﬂeﬁ
A | ~ ey (n=Zwm )
Find the degree measure of angle subtended at the centre of a circle of
radius 100 cm by an arc of length 22 cm. =~ - ' (Use = 2—72)
qﬁtanngﬁﬂ'(x?ﬁ'ﬂ%ﬂgﬂfﬂﬁ%,ﬁfsinxﬂqﬁ%: koa CPeimnl
4 4 -
ol B) ——
® 2 5 £
4 ‘ 3
s D)
(€) 5 D) -3

If tanx —g, x is in 3rd quadrant, then the value of sin x is :

4 ' .
(A) 3 s (?) 5
3 3
(C) = -FD) 5
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(9) qﬁtanx=%,ﬁ‘fisin2x'3mqﬁ-%: : ¥ g | ‘ 1
4 4
(A) 5 (B) 3
© L2 o 1

If tanx = é— , then the value of sin 2xis :

4 R
) B =
@ 2 ® 3
V3
(€C) gl (D) 1
2
(10) AR x =T, § SISXHSINX o o o 1
8 cos3x +cos x ‘
(A) o A B) 1
c o - | (D) = q #is &
If x‘=£, then BNV SR is equal to :
- 8 cos 3x +cos x
@) < ; B) 1
| () o : (D) None of these
2031 o | | | P.T.O.
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(11) tan 15° % 99 8 : . ’ A | 15
(a) 2-43 | | (B) 2+v3
1 | |
C AP _ .
© 1-— | (D) & ¥ F T
The value of tan 15°is : |
A) 2-43. - - B) 2++/3
| (C) lf% | — - - (D) None of theée |
(12) cos(—g - xJ cps(g —y) - siri(g— x) sin(-z —y) AT T{FT & | 1
(A) cos (x+y) r (B) cos (x-y
(C) sin(x+y) ‘ (D) sin (x -y)

The value of cos(lt- - x) cos(E - yJ - sin(zE - x) sin[-—71 —'y) is :
| 4 + 4 e

| (A) cos(x+y) : (B) coé (x'~y)

(C) vsin (x +y) (D) sin (x -y)
(13) 3% (x-2) + (y+ Did 3+ 4, T xMyTATE o M
ff (x—2) + (y+ .1).i = B ki, thenfHeRANE Of X ANE.Y HTE s .and
.(14)u%3x—%>5x_—1,axmqﬁmeﬁwﬁ%ﬂg%g . b
A) (=0, 3) ’ (B) (-0, -3) '
(C) (-3,®) * (D) (3, =) '

2031
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' I-f 3x—7 > 5x~- 1, then the value of x lies in the interval :

(A) (-, 3) ' (B) (-, -3)
©) (-3, ) o D B
(15) ®p; -6 p, 3 T © wummspenstes - : o 1

The value of 6P3 =6 P, is equal to
(16) Af Rl T S8 T ndfl 0 Sn+ 1 ¥, & 5w 1 R D e, 1

(17) 4 X 64 F & TR HeA ¥ ... | ' e .

The geometric mean between 4 and 64 is

If nth term of an A.P. is 5n + 1, then its common difference is

(18) e T (1+2i)2 F A% @@ w01 . 1
Find the modillus of the complex number (1 + 2i)?.

(19) IR "Cp = "Cg, W n F AT § cooverreeen. /4 & ' et
If "Cg ="Cg, then the value of nis .............. :

(20) AR §A=R 3¢ (A. P.) F 53 & 10 AR 1041 9 5 B, & I§H 1587 5@

;- G | _ . | ]
If Sth term of an A.P. is 10 and 10th term is 5, then its 15th term
1S ceevnennnn . | '

(1) (1+i)* THAA T : | 1
) 4 ' | B) o
©. -4 D) YR

2031 - P.T.O.
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(8)
The value of (L+ i)* is equal to :
(a) 4 | (B) 0
(C) -4 | (D) 'None of these
(22) 1%9wﬁmﬁwmm4aﬁaﬁﬁﬁmmmw(ﬂ% ST fepet
f ofF & FRER T &, QT 98 © ¢ 1
(A) 6561 | (B) 3024
(©) 1000 Sl . (D) 49

The number of 4 d1g1t numbers usmg the dlglts 1 to 9, when no d1g1t is

being repeated is
&) 6561 S, By 30247
(C) 1000 “‘(D) 49 |

(23) AR a, b & ¢ PR 3% ‘(q.‘ P.)ﬁ%, E‘ﬁﬁ{ﬁrﬁ%?ﬁmw qq 78T ?

a) 2-¢ B) B2 =ac
a b i ol :
a_b i L a+c
i D) b= _

(cy el | , p) =2

If a, b, care’in G P., then whlch of the followmo is not true ?

. b c ' 2
A) —=— B b =ac -
- (A) a b ’ (B) .
a b a+c
C) —=-— D) b=
© Z=- ( Ty

(24) X a X b & B ﬂ‘fﬂ'@ﬁ'%‘, o Frfatea & § @- g e
A) A>G f (B)A<G
€ A=G . | (D) F Y P
2031 | o

Downloaded from cclchapter.com



(9) 2031

If @ and b are two different positive numbers, then which of the following

is true ?
@A) A>G (B) A<G
€) A=G | (D) None of these
(25) AT TH WG (+)ve x-30 F WT 120° & BT &R L, @ S AT (slope) ¥
A J3 B) -3 -
(C)'% (D)-.% ﬁ -

" If a straight line makes an angle 120° 'w1th pos1t1ve direction of x-axis
.. then its slope is :

@ B B
= % | i |

(26)Wy ——Sxﬁﬂﬁ%ﬁ%ﬁeﬂ?ﬁ% ‘»“I L. RTEEE
a) (2,0 S s X (B) (o 2) f |
TR RN
The coordinates of the focus of the parabola’ y% = -8x is :
) 2,0, 5 o () (0:2)
€. 2,00 - . D 0,-2)

(27) T x* +y° - 4x+8y 5-0 Dam s P | S
(A 4,-8) , (B) (-4, 8) |
@ @-49 - D) (2,9 |
The coordinates of the centre of the circle ix2 +y% -4x+ 8y-5=0 arc:
®) @, -8) B) (4,8
© @-4 D 2,4

2031 | - ' | R P.T.0.
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(28) &g 9x2 +25y2 =225 & & ot F TEE B | - 1
(A) S5 (B) 10
© 3 R (D) 6

The length of major axis of the ellipse 9x? + 125y2 =225 is:

A S i (B) 10
© 3 . . me
(29) ﬁg(l,z)%aﬁmaﬁeﬁwsm(slope)aﬁﬁ%@rzmmﬁw ...... e B

The line %+% =1 meets y-axis at 'the~»point ...... deentaiians .

(31)ﬁ%(O,O)ﬁsxwa;15_%ow’sﬁﬂﬁmaﬁa@§%..'- ........ |
The length of perpendlcular from (O O) to the 3x + 4y +15= O IS ceiiiennnn. :

(32). éiﬁqa 4x2 1 oy? = a‘?raﬁam% ........... o

...............

The eccentricity of the ellipse 4x2.+ 9y2 Sy is

ey ' T :

33) Lim S‘x" FAT R conenn , & x T F R
x— : . .
Lim 222 js equal to ......... where xis in radians,
x—>0 X - '

(34) x% AU 3x2 +5x+6 F TTHIT A ﬁ?‘tl

Find derivative of 3x2 +5x+6 w.r. t. x . .

2031
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. 2
35) Li 7 _ ] xc-1 <1 : :
(35) ;gwa%wa%{_f%4”i>l%- “ R

(A) o , . (B) -2
© -1 o (D) Rl

2

b‘ ‘ . . . 2_
Lim f(x) where f(x)={ * 1 X<l
R | -x“ -1 x>1

(A) o N (B
€ -1 ' 4N . v_"(D) ‘Does not exist
(36) 5tanx+4cosxzﬁrx%ﬁﬁfﬂ':@w_%}‘ ? 78 : B

(A) 5 sec? x +‘4‘sin'.x

(B) 5 sec’x—4sinx

5%

(C) -5 seczx—4$in_ix C . i iy . | :
D) -5 sec’x+4 sin x

The deriVative. of Stan x + 4 cos# w o tx1s " o | | | » et
(A)'. 5 }secz x +4sin x

'(B) ) se'c2 X - 4.,‘sir,1 X

(é) _5 sec?x -4 sin x

(D) -5 sec?x+ 4 sinx

2031 | | = ~ P.T.O.
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(12)

@75 6 o 11, 12, 3, 7, 11 & @ef (Mean) & WY e [
SO . | : S ' | i
The mean deviation of 5, 6, 9, 11, 12, 3, 7, 11 about Mean
IS voeereerrrees v

(38)QﬁAaﬁTBamQ%ﬁﬁﬁﬁﬁEﬁﬂwa/ﬁ%7 | 1
(a) HAma<Hm | WTHAAE<HAum
) PA)<RANB (D) ABsSMAUDB

IfA and B are any two events, then Wthh of the followmg is not truc ?

&) RANB<AA) fff.f' B)HAn&<HAu&
© PASPAND (D) PBI<PAUB)

(39)?1?E@TF3€W‘%?F P(E);%,P(F) ai?RP(Ea?RF)_ , &

PEA F) @ A9 oG - : 1
If E.and F are such that P(E)= i (F) —2- and P(E and F)— , then
find P(E or F). - :
(40)&%2?@%@#@@@@%%%%@%@@@%% 1
1 ‘ % ’
A) = gt =)
A 35 !B)_* 4 C
- 3
(& 'z T § Flg el
If 2 fair coins are tossed, then the P(at least one head) is
31 1
7, et =
O B -
3 } L=
(C) yr (D) None of these
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(13)

SECTION - B

g -1
s Eﬁﬁﬂ"l ;
' cos4x +cos3x+cos2x ‘
- - — =cot3x-
sin4x +sin3x +sin2x .
Prove that : i
cos4x+cos3x+cos2x
=cot3x

sin4x + sin3x + sin2x

! sin(—ug] N AF ST BT

: Find the value of sin(— 1 1%)

a-i

i x'+iy=&l,l;, @ fﬁ@ﬁ‘ﬁﬁ x2+y2=11

If x+iy= a+:_Z, prove that x?+y?=1.
’ a-— o

100@?1000%311&?5%ﬁﬂﬁaaﬁ'mﬁmmﬁwmmﬁn

2031

Find sum of all natural numbers between 100 and 1000 and divisible by 5.

%@Tﬁﬁ y—ﬁx—5=06?lT J§y—'x+6=o%aﬁa$rﬁwaﬁiﬁﬁmn'

Find the angles between the lihes Y- V3x-5=0and J§y -x+6=0.

Downloaded from cclchapter.com
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7 W fl) = ﬁff(x)amaﬁm| 2
Iﬂﬂ)_cwxxiMdfuL
SECTION —C
gue-q
8. Rz v : R 4
(sin 3x + sin x) sin x + (cos 3x — cos x)cos x=0
Prove that :
. , - ‘,"-l’, K R i . o B
(sin 3x + sin x) sin x + (cos 3x— cos x) cos x =0
9. f 2x +3xX+35 dy | 4
m% S i ﬁcu ma%ﬁm
. N2 . ; o
if y=2ETE2, find 4y
x+ :

10. fa=fofaa aiiwet @ qqr:iﬁfﬁﬁa”(s.t>o o iR

2031

x 6 | 10 14 18 22 26 - 30
f 2 4 7 | 12 8 4 3
Find Standard Deviation of the following data
6 10 14 . 18 22 26 30
2 4 7 12 8 4 3
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11. F& XI'H 40% Rt wRm &) 30% e /e T ¥ imﬁmﬁwﬁmfﬁwﬁaﬁﬁm
A FE e B AR o et agemar g o, @ 9w AR A o9 e e @ am
THH T s HRm . | 4

In Class XI 40% Students.study Maths, 30% study Biology. 10% students
study both Maths and Biology. A .student is selected at random, find the
probability that he will be studying Maths or Biology.

SECTION-D
grg-¢

12. 7R fHE R 3 (G. P)%%@f%ﬁ?{qﬁaﬁrm S @TWWlé’f ﬁrm
GIE] S{FUId (common ratlo)sﬁr{ 78§ i ‘ 6

If sum of first three terms of a G. P. is ?—8 and their product is 1. Find the

common ratio and the terms.

Ydr

OR
AR . b, o AT AR (@ P) ¥ 4§, @ W 5

(@2 + b2 +c?) (b2 +.c? +d?)=(ab +bc+cd)?
If a,vb,.c, dA are in G. P., then show t-h:-':lt :

(@2 +b% +c2) (b2 +c? +d?) = (ab+ be+ cd)?

2031 | P.T.O.
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13. g (-1, 3) A @1 8x—4y- 10 = 0. W I A & B UK [4g & Pt et Hifora 6

Find the coordinates of the foot of the perpendicular from the point (-1, 3) to
the line 8x - 4y - 10 = 0. ' |

arqar
OR
WWWWwﬁmsﬂéeﬁtwﬁ%ﬁﬁﬁmmﬂ: (+5, 0) AR (4, 0)
&Il . : :

Find the equation of the ellipsé_‘whose Vert_ices are (+5, 0) and foci at (4_r4? 0) |
respectively.

2031
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